CAM FOLLOWER

L
I,
‘ﬂ—ﬁ
B | -— ]
i PR
. 1
Ly :lé- i 1 :
D d oot TRy g
L i B
\\

e
C

SPECIFICATION
FE AT (kgf) IRl (rpm)

FH] o e S
HlgE [E=Ci T v

Bearing Number

d B Co
CF3 3 10| M3x0.50 | 7| 8 171 -1-151|-1]03 130 72 47000
CF4 4 12({M4x0.70 | 8 | 9 (20| - | -] 6 | -]05 190 120 37000
CF5 5 13| M5x0.80 [ 9| 10 | 23 (3.1 | - [75] - |05 280 180 29000
CFo6 6 16 Mo6x1.00 |11 12 [ 28 | 4 | - | 9 | - |05 330 240 25000
CF8 8 19 M81.25 |11 12 (32 | 4 | - |11 | - |05 390 300 20000
CF10 10 22 | M10x1.25 |12 13 |36 [ 4 | - [ 13| - | 1 430 370 17000
CF10-1 10 26 | M10x1.25 (12| 13 [ 36 | 4 13(-1(1 430 370 17000
CF12 12 30| MI12x1.50 (14| 15 | 40 | 6 |3 [ 14| 6 |15 710 620 14000
CF12-1 12 32| MI2x1.50 | 14| 15 [ 40 [ 6 |3 [ 14| 6 |15 710 620 14000
CF16 16 35 M16x1.50 | 18 | 19552 [ 6 | 3 [ 18 | 8 |1.5 1040 1090 10000
CF18 18 40 | M18x1.50 |20 215 58 [ 6 [ 3 |20 [10]1.5 1410 1690 8500
CF20 20 52 | M20x1.50 |24 |255( 66 | 8 | 4 [22 12|15 1940 2350 7000
CF20-1 20 47| M20x1.50 (24 |255( 66 | 8 | 4 |22 |12]1.5 1940 2350 7000
CF24 24 62| M24x1.50 (291305 80 | 8 | 4 [25|12(1.5 2600 3050 6500
CF24-1 24 72 | M24x1.50 1291305 80 | 8 | 4 [25 12|15 2600 3050 6500
CF30 30 80 | M30x1.50 (35| 37 |100 | 8 | 4 [32 |15 2 3470 5350 5000
CF30-1 30 85| M30x1.50 (35| 37 | 100 8 | 4 [32|15( 2 3470 5350 5000
CF30-2 30 90 | M30x1.50 | 35| 37 [100 | 8 | 4 [32|15( 2 3470 5350 5000




